TNPSC-GR-II-ITA-GENERAL ENGLISH
CCSE2E-2024

101. Dr. Salim Ali was introduced to the serious study of birds by

(A) W.S. Millard (B) EHA
(C) Norman Boyd Kinnear (D) Amiruddin
(E) Answer not known CCSE2E-2024

102. "Elephant Rides are for the Royals. Forget this Dream" Who said this to Rani of Jhansi?

(A) Baji Rao (B) Moropant Tambe
(C) Gangadhar Rao (D) Pandit Dikshit
(E) Answer not known CCSE2E-2024

103. What was the name of the system that Nelson Mandela fought against?

(A) Civil Rights (B) Apartheid
(C) Violence (D) Sathi
(E) Answer not known CCSE2E-2024

104. Abraham Lincoln Proclaimed the abolition of slavery on

(A) May 1, 1863 (B) January 1, 1863
(C) January 1, 1864 (D) May 1, 1864
(E) Answer not known CCSE2E-2024

105. And the wheel's kick and the wind's song and the white sail's shaking
Pick out the figure of speech given in the above poetic line.

(A) Metaphor (B) Simile
(C) Alliteration (D) Hyperbole
(E) Answer not known CCSE2E-2024

106. "I must go down to the seas again, to the Vagrant gypsy life"

Gypsy life means

(A) A Sea Captain's Life (B) A Wandering Man's Life
(C) A Historian's Life (D) An Explorer's Life

(E) Answer not known CCSE2E-2024

107. "But we ants never borrow; We ants never lend"
Why do you think ants neither borrow nor lend?
(A) Ants are not wise and hard working (B) Ants are lazy
(C) Ants are wise and hard working (D) Ants are wise and silly
(E) Answer not known CCSE2E-2024
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108. Choose the correct tense form for the following sentence.
If she works hard, she a scholarship.

(A) would get (B) would have got
(C) will get (D) won't get
(E) Answer not known CCSE2E-2024

109. Select the correct tense.

If you hard you would have won the relay match.

(A) will work (B) works

(C) working (D) had worked

(E) Answer not known CCSE2E-2024

110. Select the correct passive form of the sentence given.
She had already sent the parcel
(A) The parcel has already been sent by her
(B) The parcel had already been sent by her
(C) The parcel was already sent by her
(D) The parcel was already sent to her
(E) Answer not known CCSE2E-2024

111. Choose the correct Active Voice for the given sentence:
The rules should not be violated
(A) You should violate the rules.
(B) Anybody should not violate the rules.
(C) Do not violate the rules.
(D) Nobody should violate the rules.
(E) Answer not known CCSE2E-2024

112. Which of the following is suitable to complete the meaning?

I stopped to him.

(A) to talk (B) talking

(C) having talked (D) being talked

(E) Answer not known CCSE2E-2024

113. The woods are lovely, dark and deep
But I have promises to keep Who wrote the above lines?

(A) Robert Frost (B) Sarojini Naidu
(C) Nisha Dyrene (D) John Masefield
(E) Answer not known CCSE2E-2024
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114.

115.

116.

117.

118.

119.

But the gladdest sort of people, when the busy day is done,
Are the brothers and the sisters who together share their fun.
Who wrote the above poem?

(A) D.H. Lawrence (B) Edgar Albert Guest
(C) William Wordsworth (D) Mary Botham Howitt
(E) Answer not known CCSE2E-2024

The word 'Plaintively’ means

(A) Happily (B) Sadly
(C) Joyfully (D) Depressively
(E) Answer not known CCSE2E-2024

Prospero's daughter name was

(A) Portia (B) Desdemona
(C) Juliet (D) Miranda
(E) Answer not known CCSE2E-2024

Match the words with their phrases:

Words Phrases
(a) Friendly relationship 1. Ran out
(b) Meet by chance 2. Get along with
(c) Use completely 3. Go away
(d) Leave from the place 4. Come across

@ O @ @

A) 3 2 1 4
(B) 3 1 4 2
© 2 4 1 3
(D) 2 3 4 1
(E) Answer not known CCSE2E-2024

Choose the correct synonym for the underlined word.:

Fill all the bowls, tubs, pails and pitchers with fresh water.

(A) mugs (B) jugs (C) buckets (D) pots
(E) Answer not known CCSE2E-2024

Choose the correct 'Synonym' by matching Column A and B :

Column A Column B
(a) Affluent 1. Widen
(b) Dilate 2. Spire
(¢) Smacks 3. Wealthy
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120.

121.

122,

123.

124.

125.

(d) Summit 4. Drive
@ Mm @ @@

A) 1 3 2 4
(B) 2 1 3 4
© 3 1 4 2
(D) 3 4 1 2
(E) Answer not known CCSE2E-2024

"Great Leaders have something in them which inspires a whole people and makes them do
great deeds". Who quotes this?

(A) Dr. C.N. Annadurai (B) Gandhi
(C) Jawaharlal Nehru (D) Abraham Lincoln
(E) Answer not known CCSE2E-2024

When was Subash Chandra Bose born?

(A) January 23, 1897 (B) January 23, 1891
(C) January 26, 1901 (D) January 23, 1895
(E) Answer not known CCSE2E-2024

Helen Keller's Autobiography was named

(A) My Story (B) The Story of my Life
(C) Experiments with my Life (D) My Life
(E) Answer not known CCSE2E-2024

How did Kalpana Chawla die?

(A) Space Shuttle Disaster (B) Aircraft Disaster
(C) Rocket launch Disaster (D) Satellite Probe Disaster
(E) Answer not known CCSE2E-2024

"But of late, my computer has been behaving badly too,,
It is so absent-minded, that I don't know what to do".
Mention the figure of speech used in the above lines.

(A) Simile (B) Personification
(C) Metaphor (D) Repetition
(E) Answer not known CCSE2E-2024

But I know no better spectacle

Than a comet in full flight.

What do you mean by 'spectacle' here?

(A) unusual event that attracts attention
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126.

127.

128.

129.

130.

131.

(B) usual situation that attracts distraction

(C) expected event that attracts attention

(D) unexpected situation that attracts distraction

(E) Answer not known CCSE2E-2024

It's written in victory and defeat

And every trial a man may meet.

What does 'it' refer to in the above given lines?

(A) Sports (B) Hope (C) Courage (D) Patience
(E) Answer not known CCSE2E-2024

Add a prefix to the word 'Natural' to complete the sentence.

His job is to investigate natural phenomena.

(A)in (B) non (C) super (D) pro
(E) Answer not known CCSE2E-2024

Fill in the blanks with suitable article.

India is largest democracy in the world.
(A) an (B) the (C)all (D) a
(E) Answer not known CCSE2E-2024

Identify the correct preposition from the options given below.

I will have finished this essay Friday.
(A)in (B) on (C) at (D) by
(E) Answer not known CCSE2E-2024

Choose the correct question tag:

This is the bus that I have to travel, ?
(A) is this? (B) isn't this? (O)isit? (D) isn'tit?
(E) Answer not known CCSE2E-2024

Select the suitable tag.

He lives in Europe, ?
(A) isn't he? (B) wasn't he? (C) didn't he? (D) doesn't he?
(E) Answer not known CCSE2E-2024

Read the following passage carefully and answer the questions given below (132-136):

Raj was upset because he had done poorly in his English test. His grandmother sat with him
and gave him a pencil. A puzzled Raj looked at his grandma and said he didn't deserve a pencil
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132.

133.

134.

135.

136.

137.

138.

after his performance in the test. His grandma explained, "you can learn a great many things
from this pencil because it is just like you. It experiences a painful sharpening, just the way
you have experienced the pain of not doing well in your test. However it will help you be a
better student. Just as all the good that comes from the pencil is from within itself, you will
also find the strength to overcome this hurdle. And finally just as this pencil will make its
mark on any surface, you too shall leave your mark on anything you choose to". Raj was
immediately consoled and promised himself that he would do better in future.

Raj was upset as he had done in his English test.
(A) well (B) poorly (C) better (D) average
(E) Answer not known CCSE2E-2024

His grandmother gave him a

(A) sketch (B) pen (C) pencil (D) painting box
(E) Answer not known CCSE2E-2024

Granny compared with the pencil.

(A) Babu (B) Raj (C) Ravi (D) Rajesh

(E) Answer not known CCSE2E-2024

Raj's pain of not doing well in his test was compared with of pencils.

(A) writing (B) drawing (C) sketching (D) sharpening
(E) Answer not known CCSE2E-2024

Raj understood that failures are stepping stones to
(A) success (B) consoling (C) climbing (D) strength
(E) Answer not known CCSEz2E-2024

Choose the correct meaning of the phrase.
Reconcile to

(A) Maintain (B) Accept half heartedly
(C) Arrive suddenly (D) Continue
(E) Answer not known CCSE2E-2024

Pick out the complex sentence from the given options.

(A) I could not make out the meaning of his absurd behaviour

(B) One who does not love one's country is a wretched person
(C) The children strolled through the meadow

(D) The moon was bright and we could see our way

(E) Answer not known CCSE2E-2024
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139.

140.

141.

142.

143.

144.

145.

Find out what kind of sentence is given below.
'If he is at home, I shall see him'.

(A) Simple (B) Compound
(C) Complex (D) Imperative
(E) Answer not known CCSE2E-2024

Combine the pairs of sentences by choosing the correct sentence.
I saw a Tiger. It was wounded

(A) I saw a Tiger was wounded (B) I saw a wounded Tiger
(C) A wounded Tiger saw me (D) I was wounded by the Tiger
(E) Answer not known CCSE2E-2024

Identify the correct Degree of Comparison:

(1) Very few people in this town are as generous as Mr. Mohan.

(2) I cannot do anything better for you than this.

(A) (1) Comparative Degree (2) Positive Degree

(B) (1) Positive Degree (2) Comparative Degree

(C) (1) Superlative Degree (2) Comparative Degree

(D) (1) Positive Degree (2) Superlative Degree

(E) Answer not known CCSE2E-2024

What is the landform formed by silt called?
(A) Alluvial (B) Sinkhole (C) Meander (D) Fluvial Terrace
(E) Answer not known CCSE2E-2024

Which historical character inspired Young Indira?

(A) Rani of Jhansi (B) Joan of Arc
(C) Sarojini Naidu (D) Vijayalakshmi Pandit
(E) Answer not known CCSE2E-2024

Why did we call Dr. Salim Ali as "Birdman of India"?

(A) His research in climate change

(B) His immense contribution to the field of Ornithology
(C) His research in Orthopedic

(D) His research in Water Movements

(E) Answer not known CCSE2E-2024

In whose biography do you find this statement?
I would sweep them out of existence if I had the power.
(A) Jawaharlal Nehru (B) Nelson Mandela
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(C) Mahatma Gandhi (D) Abraham Lincoln
(E) Answer not known CCSE2E-2024

146. Courage isn't a brilliant dash,
A daring deed in a moment's flash;
It isn't an instantaneous thing
Born of despair with a sudden spring
Write the Rhyme scheme of the poem.
(A) ABAB (B) ABBA (C) AABB (D) AAAB
(E) Answer not known CCSE2E-2024

147. Speak gently to the young, for they
Will have enough to hear
Pass through this life as best they may,
"T is full of anxious care!
Write the Rhyme Scheme of the given stanza.
(A) ABAB (B) ABBA (C) AABB (D) ABAA
(E) Answer not known CCSE2E-2024

148. And all I ask is a windy day with the white clouds flying,
And the flung spray and the blown spume, and the sea-gulls crying.
The rhyming words in the above lines are

(A) windy, white (B) spray, spume
(C) clouds, gulls (D) flying, crying
(E) Answer not known CCSE2E-2024

149. Choose the correct Antonym for the underlined word 'Concentra from the option given.

(A) Continual (B) Preventable
(C) Distract (D) Wise
(E) Answer not known CCSE2E-2024

150. Match the following with correct Antonyms:

Column A Column B
(a) brisk 1. happy
(b) desperate 2. criticize
(c) plaintive 3. hopeful
(d) praise 4. dull

@ ® @ @@
(A) 1 3 4 2
(B) 4 3 1 2
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151.

152.

153.

154.

155.

© 4 1 3
(D) 4 1 2
(E) Answer not known CCSE2E-2024

Select the correct prefix word for 'Violet' from the options given:
(A) ultra (B) em (C) super (D) in
(E) Answer not known CCSE2E-2024

Pick a suitable prefix for the given ward from the given options:

Understand
(A) re (B)ir (C) mis (D) sub
(E) Answer not known CCSE2E-2024

Match the Poets with their Poems:

(a) Mary Botham Howitt 1. The River

(b) Caroline Ann Bowles 2. The Stick-together Families

(c) Robert. Frost 3. The Spider and the Fly

(d) Edgar Albert Guest 4. Stopping by Woods on a Snowy Evening
@ Ok @ @

A 3 1 4 2

B) 4 2 3 1

©) 3 4 2 1

(D) 2 4 1 3

(E) Answer not known CCSE2E-2024

For simple sheep; and such are Daffodils.....
With the green world they live in;

and clear rills.....

The above lines were written by

(A) W.B. Yeats (B) Percy Bysshe Shelley
(C) John Keats (D) William Wordsworth
(E) Answer not known CCSE2E-2024

"Come you back unto the fireside and be comrade with your kin"
This line is taken from the poem

(A) The Poison Tree (B) The River
(C) The Stick-Together Families (D) Life
(E) Answer not known CCSE2E-2024
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156.

157.

158.

159.

160.

161.

"Still seeking what I sought when but a boy,
New friendship, high adventure and a crown"
Who wrote the above lines?

(A) Khalil Gibran (B) Henry Van Dyke
(C) H.W. Longfellow (D) John Masefield
(E) Answer not known CCSE2E-2024

Select the grammatically correct sentence:
(a) My son is fond of music

(b) My son is fond to music

(c) My son is fond in music

(d) My son is fond with music

(A) (b) and (c) are correct (B) Only (d) is correct
(C) (a) and (d) are correct (D) Only (a) is correct
(E) Answer not known CCSE2E-2024

Which of the following is a noun?

(A) Put (B) walk (C) Sun (D) Call
(E) Answer not known CCSE2E-2024

A of birds were flying on the sky.

(A) swarm of (B) group of (O) flock of (D) herd of
(E) Answer not known CCSE2E-2024

Identify which is the correct singular word and select the answer from the codes given below.

(a) Crises

(b) Media

(A) (a) is a singular word (B) (b) is a singular word

(C) Both (a) and (b) are singular word (D) Both (a) and (b) are plural word
(E) Answer not known CCSE2E-2024

State which statement is correct:

(1) Little Czar was a European brown bear cub

(2) Little Czar was an Indian brown bear cub

(3) Little Czar was an American brown bear cub

(4) Little Czar was a Germanian brown bear cub

A1 (B) 2 (OK;] (D) 4
(E) Answer not known CCSE2E-2024
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162. Who brought up Sir Isaac Newton?

(A) Grandfather (B) Grandmother
(C) Father (D) Mother
(E) Answer not known CCSE2E-2024

163. Beauty lies in the beholder's
(A) Head (B) Eyes (C) Brain (D) Ear
(E) Answer not known CCSE2E-2024

164. "My Reminiscences" was written by

(A) Kamala Markandaya (B) Ernest Hemingway
(C) Toru Dutt (D) Rabindranath Tagore
(E) Answer not known CCSE2E-2024

165. Identify the figure of speech employed in the following lines. "The bleeding bark will heal.

(A) Personification (B) Simile
(C) Metaphor (D) Oxymoron
(E) Answer not known CCSE2E-2024

166. Lights flicker on and off
But fear takes over me.
Identify the Onomatopoeic word in the given stanza.
(A) fear (B) lights (O) flicker (D) on and off
(E) Answer not known CCSE2E-2024

167. "We were taken from the ore-bed and the mine,
We were melted in the furnace and the pit-
We were cast and wrought and hammered to design,
We were cut and filed and tooled and gauged to fit".
What is the poetic device used here?
(A) Oxymoron (B) Paradox (C) Assonance (D) Anaphors
(E) Answer not known CCSE2E-2024

168. Foreign + Exchange =

Find the blended word.

(A) Foreign change (B) Foreign exchange
(C) Forex change (D) Forex

(E) Answer not known CCSE2E-2024
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169.

170.

171.

172.

173.

174.

175.

Which two words blend together to form the new word 'Camcorder"?

(A) Cam + recorder (B) Camera + recorder
(C) Camera + order (D) Cam + corder
(E) Answer not known CCSE2E-2024

Which of the following is correct for?

Overcoat

(A) Noun + Preposition (B) Noun + Noun

(C) Verb + Noun (D) Preposition + Noun
(E) Answer not known CCSE2E-2024

Identify the compound word that is:
Gerund + Noun

(A) Cry baby (B) Sun rise
(C) Bleaching powder (D) Sun set
(E) Answer not known CCSE2E-2024

Replace the underlined word with its American word:
We should use the Bin for the garbage.

(A) Dust Bin (B) Trash Can
(C) Garbage Bin (D) Trash Box
(E) Answer not known CCSE2E-2024

You were the dad chosen for me
The author's dad was chosen by

(A) Mother (B) Neighbours
(C) God (D) Friends
(E) Answer not known CCSE2E-2024

Then my computer caught a virus, and fell very sick,
So I had to call in a doctor, double quick.
Why did the poet call the doctor?

(A) as the computer fall very sick (B) as the computer fall down
(C) as the computer got hurt (D) as the computer fall asleep
(E) Answer not known CCSE2E-2024

"And all I ask is a merry yarn from a laughing fellow-rover,
And quiet sleep and a sweet dream when the long trick's over"
The above lines are in the poem -

(A) A Thing of Beauty (B) Sea Fever
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(C) Lessons in Life (D) Making Life Worthwhile

(E) Answer not known CCSE2E-2024
176. Someday people will of our great exploits.
(A) right (B) reads (C) write (D) wrote
(E) Answer not known CCSE2E-2024
177. Find out the error part in the given sentence.
I found an one rupee coin / in the playground / while playing
A B C
(A) I found an one rupee coin (B) in the playground
(C) while playing (D) All are incorrect
(E) Answer not known CCSE2E-2024
178. Choose the correct article.
This has got to stop immediately; Justice Mathematics said in stern voice,
rapping hammer for silence in court.
(A) a, the, a (B) the, a, the (C) a, the, the (D) a, a, the
(E) Answer not known CCSE2E-2024
179. Choose the correct preposition:
Miranda hung ungentle"? her father saying, "Why are you so
(A) upon (B) on (C)in (D) with
(E) Answer not known CCSE2E-2024
180. Select the correct meaningful sentence from the following.
(A) My Sister and friend have come.
(B) Her cousins as well as her friends has received prizes.
(C) The whole class are attentive.
(D) News never comes too late.
(E) Answer not known CCSE2E-2024
181. 'Practice hard and see what magic can transpire', was the advice given by to Sachin
Tendulkar.
(A) Ramakant Achrekar (B) Ajit
(C) Sunil Gavaskar (D) Sachin's father
(E) Answer not known CCSE2E-2024
182. Tom used the pain killer to
(A) take care of his health
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183.

184.

185.

186.

187.

188.

www.vetriias.com

(B) mend the crack on the sitting room floor

(C) to Cure Becky Thatcher
(D) help his aunt
(E) Answer not known

The adventures of Tom Sawyer is a
(A) Short Story (B) Novel
(E) Answer not known

And I Sunned it with smiles

Identify the alliteration in the given line.
(A) I-it

(C) Sunned — smile

(E) Answer not known

To win, run as fast as the wind

CCSE2E-2024

(C) Fiction (D) Tale
CCSE2E-2024

(B) And with
(D) Sunned with
CCSE2E-2024

Identify the figure of speech in the given line.

(A) Personification
(C) Simile
(E) Answer not known

Which of the given option is a Metaphor?
(A) Life is like a chocolate box

(C) His words are pearls of wisdom
(E) Answer not known

Autumn is English

in red, yellow and brown
Autumn is Indian
Whenever leaves fall down
Who wrote the above poem?
(A) Nisha Dyrene

(C) D.H. Lawrence

(E) Answer not known

(B) Metaphor
(D) Anaphora
CCSE2E-2024

(B) Raj is like his twin brother
(D) The bus is slow as a snail
CCSE2E-2024

(B) William Wordsworth
(D) Mary Botham Howitt
CCSE2E-2024

"And one day, my naughty computer actually gobbled a worm,

And behaved so erratically that it made me squirm".

The poet was made to squirm because of the

(A) absent-minded
(C) erratic

behavior of the computer

(B) dreadful
(D) hasty

9884421666/9884432666
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189.

190.

191.

192.

193.

(E) Answer not known

Every soul that touches yours
Be it the slightest contact
Who wrote the above lines?
(A) William Shakespeare

(C) George Eliot

(E) Answer not known

"She puts her life at Stake"

CCSE2E-2024

(B) Robert Frost
(D) John Masefield
CCSE2E-2024

Give the meaning of the word Stake
(A) brisk (B) courage (C) ease (D) risk

(E) Answer not known

CCSE2E-2024

Strong is she in her faith and beliefs.

"Persistence is the key to everything", says she.

What does the word "Persistence” mean?

(A) grief
(C) determination
(E) Answer not known

(B) groans
(D) moans
CCSE2E-2024

It's helping your fellowman to score

When his chances hopeless seems;

The word 'it' in the above lines refers to

(A) hard work (B) best work (C) team work (D) smart work

(E) Answer not known

CCSE2E-2024

Match the Non-finite verb correctly:

Column A
(a) Walking is healthy habit

(b) I like to walk early in the morning

Column B
1. Infinitive
2. Present Participle

(c) Having walked a long distance I felt tired 3. Gerunds

(d) These are my walking shoes 4. Part Participle
@ ® @ @@

A) 1 2 3 4

(B) 3 1 4 2

© 1 3 4 2

(D) 3 1 2 4

(E) Answer not known

www.vetriias.com

CCSE2E-2024
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194.

195.

196.

197.

198.

199.

200.

Identify the sentence pattern of the following sentence.

I painted the car blue.
(A) SVOC (B) svC (C) SVA (D) SVOA
(E) Answer not known CCSE2E-2024

Identify the sentence pattern of the following sentence.
In 1998, Frank moved to London

(A) ASVA (B) ASVO (C©) ASVC (D) SVIODO
(E) Answer not known CCSE2E-2024

They rejoined the group as Sarah passed out and coffee.

(A) desert (B) dirt (C) dessert (D) dish

(E) Answer not known CCSE2E-2024

Who was chirping at the edge of the woods?

(A) Cow (B) Monkey (C) Dog (D) Birds
(E) Answer not known CCSE2E-2024
On the way to his home, Peter stopped to pick or to listen to the

(A) Blue flowers, the water falls

(B) Blue flowers, the rabbits' soft tread

(C) Yellow flowers, the rabbits' soft tread

(D) Yellow flowers, the water falls

(E) Answer not known CCSE2E-2024

The setting of the play "The Dying Detective'is in

(A) Victor Savage's house (B) A New York city apartment

(C) Dr. Watson's House (D) Sherlock Holmes' bedroom
(E) Answer not known CCSE2E-2024

Sir Arthur Ignatius Conan Doyle was a writer.

(A) Irish (B) American (C) British (D) French

(E) Answer not known CCSE2E-2024
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TNPSC-GR-II-IIA-GENERAL ENGLISH
CCSE2E-2024

1.  Choose the correct pair:

Name of the President Elected Year

(1) Dr. S. Radha Krishnan - 1961

(2) Dr. Zakir Hussain - 1966

(3) Fakhruddin Ali Ahmed - 1974

(4) N. Sanjeeva Reddy - 1977

(A) (1) and (2) are correct (B) (2) and (3) are correct
(O) (3) and (4) are correct (D) (1) and (4) are correct

(E) Answer not known
Frflwmeor @)emeuoTenIU & 60T LM &

GQUTES H6VaUT QLIWIT CaHIHRASMHSHEHLILIL L ,600T(H
(1) Dr. S. pr&m ) (5619 600T60T - 1961

(2) Dr. 5M&5 2_GFeir - 1966

(3) LEBSET 260 9HIS - 1974

(4) N. 5er&eu QLLg - 1977

(A) (1) wpauid (2) FFflwimerg (B) (2) wmpoiid (3) sflwimersl

(O (3) wpad (4) FFflwmerTsl (D) (1) Loobd (4) Fflwmers

(E) e 0sflwelcvemey  (CCSE2E-2024)

2. Acurrent of 0.5 A passes through a lamp for two minutes, then the number of electrons pass

through the lamp is
(A) 6.25 x 1018 electrons (B) 6.023 x 1023 electrons
(C) 1.6 x 1079 electrons (D) 3.8 x 102° electrons

(E) Answer not known

0.5 A 106TGeoTTL L LD epeflBLd ellend @ audlwimas @ revor( IO BIG6T LUMUS M ereofley,
aflens @ UG Q& 6TM 6TH [T L 60T60T 600 &5 5 61l 63T 6T 600T 6001 | &5 600 55

(A) 6.25 x 108 6TELEL_ [T TEOTSH 6T (B) 6.023 X 1023 6TELEL_[J T6OTSH6IT

(C) 1.6 X 10719 6TEL& LT ITEOT S 6IT (D) 3.8 x 1020 6T6L&L_[J T6OTEH6IT

(E) e asflwelevemey  (CCSE2E-2024)

3. ISRO prefer to launch Human space flight mission during 75th independence, the (crew
member) explorer is named as
(A) Astronaut (B) Cosmonaut
(C) Gagannaut (D) Ganganaut
(E) Answer not known
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QBB elleoroelel 9Luie] MLWSHTL 756018 &HSHHTSHT CUMH gaullli(hd
D6l HemeTd Q& meoor(h) G Feualn 6)l6voTds6v8 H) 6T ellevorGleuerflLl Liuleoord GLMQ & TETEHLD
SW 2 LN eTeleU MM S emp&sLILIBeUTT?

(A) @LeVLGrmBTL (B) &smervGLOMBITL.

(C) MBI (D) smismmmL

(E) efleoL asflualevemev  (CCSE2E-2024)

4. "Number four and two are strengthening your words" Number 'two' refers to what?
(A) Proverb (B) Thirukkural
(C) Naaladiyar (D) Aathisoodi

(E) Answer not known
"SIalh @eoT(hD QFTLNGHGNH" eTeoTm LIPQLTSIulle '@ retor(h)' 675 em6Ts:

G&M&E&TmS?
(A) L@l (B) 8®&GmeaT
(C) BreVIg Wy (D) 459561

(E) efleoL asflwalevemev (CCSE2E-2024)

5. According to Valluvar, which will be considered with ulmost gratitude?
(A) As Bamboo as Benefit (B) As Millet as Benefit
(C) As Sea as Benefit (D) As Mount as Benefit
(E) Answer not known
6T560)60T LIED6OTUIETEY [H60TMI W8 Q& MeTel eTeoT aleT@hell GMILILNGSRmmF?
(A) epmi&leh 3y6me HeoT] (B) Blemreur 24616y HeoTl
(C) BL6v 96Ty HeoTl (D) emev o46rme) HeoT il
(E) allewL asflwelevemey  (CCSE2E-2024)

6. "Kallaarai Kaanungal Kalvi Nalga Kasadarukku thookkumaram angae undaam"
Who wrote these lines?
(A) Bharathidasan (B) Kannathasan
(C) Vannathasan (D) Vaanithasan

(E) Answer not known

"HELEVITEN TS &ITEIMHIS TV G560l HELSHTSH

HFLIGGS SMEG0TID HICsH 2 60T M- @ &sallens alflsebsE 2 fluweld wmy?
(A) umTyH s MTEeT (B) &5 6v0T600TSS T 60T

(C) 6uevoTEDOTSS TG 60T (D) eurmevofl g me 6ot

(E) e asflwelevemey  (CCSE2E-2024)

7.  Arrange the following Books of Jawaharlal Nehru in Chronologics order considering their
year of publication.
(1) An Autobiography: Toward Freedom
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(2) Glimpses of world History
(3) The Discovery of India

(4) Before Freedom

A) (4), (3), (2), (1)

(B) (2), (1), (3), (4)

(©) (2), (3), (4), (1)

(D) (2), (4), (3), (1)

(E) Answer not known

6IMFTeVMTe CH(HeN 6T BTeL&HM6T L LiLienLulley SmevauflenaFLiLI(h & SI8 3 emeal.
Qeueflul LI’ L opev0rlq

(1) @7 swesfleng &HHH T CHTES

(2) 268 augeLTMI F LIMFemel

(3) @bS wimeileor &evor(HILILG LiL|

(4) &5HETSHHS W6

A) (4), (3), (2), (1)

(B) (2), (1), (3), (4)

(© (2),(3), (4), (1)

(D) (2), (4), (3), (1)

(E) alleoL 0aflwelevemev  (CCSE2E-2024)

8. The framers of the Constitution incorporated the duties of the State in the constitution in the
form of the
(A) Fundamental Duties
(B) Fundamental Rights
(C) Directive principle of state policy
(D) Rights of Citizen
(E) Answer not known
TR WevennLIemnL] 2 ([HeUTHER U TEHET STH 6T HLenNG&HETTS 3TF Wevennlililey @hs
QUG eISHT6) CFTSH S 6.
(A) 9@ LILEML &L 6MLDSH6IT
(B) 99 iLemL 2_flemlngei
(C) oipFler auPfl&TL QLD QB 6 M6t
(D) ®19108:5 @588 mer 2_[fle0Ln &6t
(E) elleoL asflwelevemey (CCSE2E-2024)

9. Match the following:

(a) CO. 1. Ground water pollution and particulate in air
(b) NO« 2. Global warming

(c) Lead (Pb) 3. Acid rain

(d) Hydrocarbons (HC) 4. An ingredient for the formation of
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photochemical smog
LI edT e HeueTauMmemmLI QUIT(HS S &

(a) CO, 1. Blevgslq BT LTe&UTH WHmID &TmHley
2 616 SI&HEHH DM
(b) NO« 2. L&l QeulILWLNTE 6D
(c) sm&wid (Pb) 3. 946V LDEmILP
(d) emamL_Gprasmiuesr (HC) 4. 6] CauHullwiev Ljem&sLIeoT] 2_(H6uTEeUs M &s et

62(IH CLOELLIGQLIM(H 6T
(a) b)) (© @@

A) 2 3 1 4
(B) 2 1 4 3
©) 3 2 1 4
(D) 2 4 3 1

(E) efleoL asflualevemev  (CCSE2E-2024)

10. What kind of Dhoti worn by maternal uncle while singing lullaby you identified?
(A) Silk Dhoti (B) Sandal Dhoti
(C) Thuvai Dhoti (D) Mallu Dhoti
(E) Answer not known
ST (I LIML6d6v SMTUILDTINGT SHLI1Q aU@BLD Gall 1) QIS5 6T5I?
(A) UL Geaul g (B) g e0r Gaul 1
(C) s1emeu Gaul lq (D) 6vsy Gaul g
(E) el aaflwaillsvemey  (CCSE2E-2024)

11.  "Utruzhi uthaviyum uruporul koduthum"-
What field is eulogised in this Purananootru Paadal?
(A) Education (Kalvi) (B) Charity (Eegai)
(C) Integrity (Nermai) (D) Truth (Unmai)
(E) Answer not known
"o oIl 2 Falujb 2 MIQUTIHET Q&MTH SN -
GLM&TEDILD L|MBTETMMILILITL 6V 319 6T860T FImLIenL 160U Mg SIS 6oTmSI?
(A) seval (B) remv &
(C) GrremD (D) 2_evoremLn
(E) ellevL asflwelevemey  (CCSE2E-2024)

12. Which one of the following pairs is wrongly matched?

Revolt - Area

(I) Ramosis - Poona
(IT) Kuka - Punjab
(I11) Santhals - Orissa
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(IV) Kittur - Malabar

(A) (I) and (IIT) only (B) (III) and (IV) only
(C) (IV) only (D) (III) only

(E) Answer not known

LY edTeumLD @) 6m6t0T&H 6160 FHeummesTeumenm & eoor(hLIlLg :

ReTFFH LUG&S

(D) prGm&env - LLGOTIT

(I gsm - L@h&FmLl

(ITT) 55606 - eflem

(IV) @Gy - LGV

(A) () whmitb (I11) LG (B) (III) wmmitb (IV) L @1Lb
(©) (IV) b (G (D) (III) @b

(E) e asflwalevemey  (CCSE2E-2024)

13. Select the chronological order of mentor student chain in the establishment of scientific
methods
(A) Aristotle Alexander Socrates - Plato
(B) Plato-Socrates - Aristotle Alexander
(C) Socrates-Plato-Aristotle - Alexander
(D) Alexander-Aristotle Socrates - Plato
(E) Answer not known
el 6hEhTeoT (LEM G 66T BlMiaaIH eV aIBSTL LY &TevalflenaliLlg CHTIHOS(H &5l
LDTevoTeU T & 15 69l 6L
(A) 9flelLITL 196V S Q6VEEFTETL FM&TIeen-LNGeTl_GLIT
(B) NGer_GLIT &M&TIg6 VLML 1960 361608 & 60T [T
(C) srarIcev-LNGeTLGLIT - FflevL ML 1960 Q@ 6V&HFTe0TLI[J
(D) 91Q6evsameoor_ i Sl ML 1960 FraFieev LNCaTL_GLT
(E) aellevL asflwalevemey  (CCSE2E-2024)

14. Find out the incorrectly matched.

(i) Article 18 - Abolition of Titles

(ii) Article 21 - Protection of life and personal liberty
(iii) Article 23 - Protection against arrest

(iv) Article 20 - Right to free movement

(A) (iii) and (iv) are incorrectly matched

(B) (ii) and (iii) are incorrectly matched

(C) (1) and (iv) are incorrectly matched

(D) (ii) and (iv) are incorrectly matched

(E) Answer not known

G LD 85556007 L6 M MIGT &6UMITET &)60)600Tem LI & 600T L1 &
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(1) FLL 2 miiy 18 - L LBIgeneT 6Lold 60

(1) L 2 mitiy 21 - 2 ufeumpgev LDMMILD Seofl el &HHHTESH MG
LUM&I&STLIL

(iil) L 2. miiL 23 - M&5G QFWWLILUG S eN®BHS LIMSISTLIL

(iv) sLL 2. miliL 20 - FSHHTLMS BLIDTHeUSMSETET 2 [flenln

(A) (iii) LmHmID (iv) SEUMITET ) 60)600T

(B) (ii) tommiLd (iii) SHeUMITEOT &) 60 600

(O) (1) mmiLh (iv) SeUMIT60T @)60)600T

(D) (i) bmmild (iv) SeUmITeoT @)60)600T

(E) allevL sflwalevemey  (CCSE2E-2024)

15. Match the following;:

(a) Non-Brahmin Movement 1. Jyothi Rao Phule
(b) Self-Respect Movement 2. E.V. Ramasamy
(¢) Shuddhi Movement 3. Dayananda Saraswathi

(d) Sathya Shodhak Samaj Movement 4. Sri Sahu Maharaj
B LD &5 600TLeUMen ML QILIMTH S Hi&:

(a) YgmwemTIeLeVTCHITT @)W&HELD 1. GRMH M6l LL,G6v
(b) srwwflurens @usHsLI0D 2. F.Q6l. FmOgF Ml
(c) euvsH @uiIssID 3. HWMTeTH& & JerveU)
(d) F5W GEFMsMEH FIOMTY @ UIGHSELD 4. f FMG IDSTTY
@ m @ @@
A) 2 1 4 3
(B) 1 4 2 3
© 2 3 4 1
(D) 1 2 3 4
(E) Answer not known (CCSE2E-2024)

16. Who among the following had started 'Mitra Mela' Association!
(A) Shyamji Krishna Varma
(B) Vinayak Damodar Savarkar
(C) Lala Hardayal
(D) Sohan Singh Bakna
(E) Answer not known
Lesreuneusoreummilev 'LOGTT GOETT FhISGENS QSTLBIG W6 Wry?
(A) equImhgd] &) ([H61q.600T GUITLOIT
(B) llpmwis sTCOMST FMalTEHET
(C) aumeuIm @M S WIMTET
(D) Gomamest S\ LIG6oTT
(E) efleo sflwalevemev  (CCSE2E-2024)
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17. Who founded the All-India Muslim League in 1906?
(A) Muhammad Ali Jinnah
(B) Khwaja Salimullah
(C) Sir Aga Khan
(D) A.K. Faizul Haq
(E) Answer not known
MeTE T HH W (LperveSin 658 &L Flemul 1906-6v Bloiellulg wmy?
(A) e g 9169 gleTeorT
(B) sseumgam Fedl(peveurm
(©) 7 ama& &mer
(D) e1.G5. emLIGT6L QM &
(E) efleoL asflualevemev  (CCSE2E-2024)

18. Which of the following bodies doesn't/don't find mention in the Constitution?
(1) National Development Council
(2) NITI Aayog
(3) Election Commission
(4) Finance Commission
(A) (1) and (2) only (B) (2) only
(C) (1) and (4) only (D) (1), (2) and (3) only
(E) Answer not known
B LG 60T | 6MLDLIL] G660 6Tem6U/6TemaISET TR WVemDLILF FL L SH 6V
&Imevor LILILefl6vemev?
(1) GaHW auemF&FH & & (W
(2) B aCwms
(8) GaI&H6L L6m600T UL
(4) BI® Su6m600TWID
(A) (1) LoD (2) LLHILD (B) (2) bL@WD
(C) (1) oMb (4) LLEWD (D) (1), (2) HmIb (3) LHID
(E) ellevL asflwelevemey  (CCSE2E-2024)

19. Who among the following is the only woman historian to have written a historical account of

Mughal period?
(A) Gulbadan Begum (B) Zeenat-un-Nisa Begum
(C) Jahanara Begum (D) Zeb-un-Nissa Begum

(E) Answer not known

LN 606U (HLIGUT&H @B 6T (LD 856VITWLIT&H 66T &TeVEH6L HLHS 6UTEVTMHMI H8LD6) 66T 6T L
Gy QlLIevor euFeLTMmM LA FlwF wmy?

(A) 6B ET GUGLD (B) dleorrg -2_eor-mlEm GLISLD

(C) sermym GU&LD (D) Ql1-2_er-BlFm GUISKLD
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(E) e asflwelevemey  (CCSE2E-2024)

20. Assertion (A) 2-4-Dis used as herbicides. (Refer TNPSC Key)
Reason (R) 2-4-D induces production of fruits without fertilization.
(A) (A) is true, (R) is the correct explanation
(B) Both (A) and (R) are true
(C) (A) is false, (R) is true
(D) (A) is true, (R) is not the correct explanation
(E) Answer not known
Famml (A) : 2-4-D &H606M156&Mev6ed LTS QEFWLRSH MS.
&myeoorld (R) : 24 D &@HeymTO6Y &Herfl 2 (HeUms STIernmHmsS.
(A) A)sflumergl. (R) sflwmer allemg L0
(B) (A) nmoid (R) sflwimers
(O (A) saupnerra (R) sflwimerg
(D) (A) srflumenrg (R) siflwimeot ellemds & Ldlevemey
(E) e asflwalevemey  (CCSE2E-2024)

21. Objectivity, Predictability and Generality are the feature (Refer TNPSC Key)
(A) Scientific method (B) Scientific enquiry
(C) Scientific attitude (D) Scientific experiment
(E) Answer not known
LmeuWLILL L &60TemLn, (LD6dT8: 600t L1L| & &HeTemLn IDMMILD QUMSEIeNNSS 28 Wiemeu ulledr
I|IDFMBIGETTS MNFR M.
(A) 9imleflwev wemm (B) @umiledluiev e & T iyem oot
(C) 9mlelwiey LOGOTLILITETEmLN (D) sinflallwiev LIfIG&FME 6m60T
(E) e asflwelevemey  (CCSE2E-2024)

22, Choose the Sangam period in which the poet Nakkirar was considered the most predominant
poet:
(a) First Sangam
(b) Third Sangam
(c) Second Sangam
(d) Fourth Sangam
(A) (a) only (B) (b) only
(C) (¢) and (d) only (D) (b) and (c) only
(E) Answer not known
FECL QHTHESLILIL (R 6TET HMevsH 6L BEHSTT W& (NEH W LIValT TS Th&HE Fhis
HMTVSMNGHF CFIHSHTTEHEES &HSLILGRMTT?
(a) Wws6eL FMRISHLD
(b) epedTMMTLD FMHIGLD

www.vetriias.com 9884421666/9884432666 8



http://www.vetriias.com/

(c) @pevorLITLD FMISLD

(d) BMTeT&HITLD &FHIGLD

(A) (8) LL@Ib (B) (b) nL_(®b

(O () wopoiid (d) LLGID (D) (b) Hoiid (¢) L GID
(E) efleoL asflualevemev (CCSE2E-2024)

23. One side of a rectangular field is 15 m and one of its diagonals is 17 m. Find the area of the
field.
(A) 80 m2 (B) 100 m (C) 110 m2 (D) 120 m2
(E) Answer not known
R CF6IaIS 66l BleVEH 6T @ LIS 6Te] 15 LS LDMMILD (56T 6 enemevadll_L b 17
LS eTevfl6L, BlevS G 60T LITLILIGTEm6U &5IT600TSs.
(A) 80 152 (B) 100 152 (C) 110 152 (D) 120 142
(E) efeoL asflwalevemev  (CCSE2E-2024)

24. "Problem of the Rupee" is the thesis submitted by
(A) Dr. B.R. Ambedkar
(B) M.G. Ranade
(C) J.C. Kumarappa
(D) Mahalanobis
(E) Answer not known
e LITUWI6dT LN J&FoemenT” 6T6dTm U161 N &60) 5600 UL FIUNSsTT
(A) LmsLy .oyl 9bhCUsSsT
(B) n&m, GaIm, pmeTGL
(C) Gn.8.urLium
(D) wssmeuBerTmLileiv
(E) e asflwelevemey  (CCSE2E-2024)

25. Who wrote a series of articles entitled 'New Lamps for Old"?
(A) Dinshaw Wacha (B) Dadabhai Naoroji
(C) Surendranath Banerjee (D) Aurobindo Ghosh
(E) Answer not known
'BlW, UITLDLI6N &M CeumeVL." eTedTenID HemevLILev &L (R enIs QST er& WUl wWimy?
(A) SetaqIm euTEST (B) srsmumil Qmber@rmell
(O) &C@yHH THTgS LmeTTeg) (D) oy7ellhGsT Gamey
(E) ellevL asflwelevemev  (CCSE2E-2024)

26. Which of the Vedic Gods is described as the "Destroyer of cities"?
(A) Agni (B) Indra (C) Rudra (D) Vishnu
(E) Answer not known
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27.

28.

29.

30.

'B&IMRIGe6T SPILILIOT 6T6edTmI 6THS Causbd HLa 6T SMIWLILG&EmTF?
(A) oyl (B) @b& yeor (C) ®suedr (D) eleiq gz
(E) efleo asflualevemev  (CCSE2E-2024)

Which one of the following is not correct about Harappan culture?

(A) All Harappan sites are urban character

(B) The Harappan cities depended on villages for food and labourers

(C) Harappan remains discovered even at small village sites

(D) The most distinctive feature of Lothal is dockyard

(E) Answer not known

LD & 600T L euMmI6T e@mLium BIsFls0n LM SeUmmer dunMm 6T ?

(A) amglium BrsFeE5H 60 26T @)L MGEHWD BT HTEHosW0 C8 ML gl

(B) eamp LI B8 HBIGH6T 2_600T6) 88 M86) LD, LI60oT W6 T8 6588 M8 6D G [JTLO MBS 60) 61T
FMIHS GHS S

(©) anpuur pr&flesH e aFamisear Al G Tnkiseflaln & e &s&H6Tmsl

(D) Geumg s6dleT FIMUILIIDELD SIemMUNSLD 3L &L

(E) efleoL asflwalevemevy  (CCSE2E-2024)

If ABCDE = P1Q2R3S4T5 then which one of the following is to Q2BFV7A.

(A) BQ2V7GP1 (B) BQ2U6EP1

(C) BQ2V7EP1 (D) BQ2U6GP1

(E) Answer not known

ABCDE = P1Q2R3S4T5 eteor @ b5 mev Lletraueausoreummier Q2BFV7A eretTLIS MG
FLOLOMTEOTS 61517

(A) BQ2V7GP1 (B) BQ2U6EP1

(C) BQ2V7EP1 (D) BQ2U6GP1

(E) aellevL asflwalevemey  (CCSE2E-2024)

Gopi sold a laptop at 12% gain. If it had been sold for Rs. more, the gain would have been
20%. Find the cost price c laptop.

(A) Rs. 15,000 (B) Rs. 16,000 (C) Rs. 14,000 (D) Rs. 15,500

(E) Answer not known

G& ML ([ D1 &G evutlevfleml 12% @evmUSH MG eNlMmTT. GLosYILD €1h.1,200-5E

FaH v MM BHST6L @6eVMLILD 20% 21,8 @ (BHF [HEELD L0188 600t 6ofl Ul 6T &5
aflem6VemUIG &5 ITE0OT 5.

(A) em.15,000 (B) em.16,000 (©) em. 14,000 (D) em. 15,500

(E) allewL asflwelevemey  (CCSE2E-2024)

A force of IN acts on a body of mass 10 kg. As a result, the body covers 100 ¢m in 4 seconds
moving along a straight line. Find the initial velocity of the body.
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31.

32.

33

(A) 6cm/s (B)5cm/s (C) 8 cm/s (D) 12 cm/s

(E) Answer not known

10 HG6VIT eTemL_L6T6 (B QUIMH6TleL IN ellems QF WGP MSI. @)H60T alleme6Telms
3B QUTIHET 4 efleormig serfléb 100 Q&.LS CBHICSHITL Y6V &G LD 6760116V 60T b, TLNL
GeUB 5SS G6vorL MWe]LD.

(A) 6 Q&.15/elleoTTIq. (B) 5 Q&.15/edeoriTIq

(C) 8 Q&.L5/efleoriTIq. (D) 12 Q&.15/ efleorimig.

(E) e asflwalevemey  (CCSE2E-2024)

Green light shines on a rose flower. Then, the colour of its petals seems to be

(A) Green (B) Pink (C) Black (D) Red

(E) Answer not known

@@ Crmem BlmLiLeiley LFag el aflfallsaSRmal. SILICLMS, &6 @) 5L erleor
BIOWOMTHS G5 TeTmi6l S

(A) usenes (B) Qauefli&eutiy  (C) ssapLiy (D) euliLy

(E) eflevL asflualcvemevy  (CCSE2E-2024)

Assertion (A) : Swami Vivekananda founded Ramal Mission to popularise the teachings
of his m
Reason [R] :  Ramakrishna Mission was a monastic ord devoted itself to the spiritual

development of Man

(A) (A) is true, (R) is false

(B) Both (A) and (R) are true and (R) is the correct explanation of (A)

(C) (A) is false, (R) is true

(D) Both (A) and [R] are true, but (R) is not the correct explanation of (A)

(E) Answer not known

Famml (A) ;e NGausTaThET Heordl &meledr GUITES LITLIL @7 ML) (He6q.600T T
eagemeT mloiaNeorm.

&rgeord (R) @ @umw& meqeoorT Wlag 6T 6(h SIMeum SemnlnliL] LM 06T g eof] 6ot
2L60TLSS QUETTEFF &G HeoTem6oT | [FLILI6oI 55

(A) (A) 71 (R) meum

(B) (A) nmoud (R) &1, (R) (A)wieen_wl siflwimeot elemggsLn

(O) (A) saug (R) &1

(D) (A) mmoid (R) &ifl eormev (R), (A)wlleemw giflwimeot ellemg &L

(E) ellevL asflwelevemey  (CCSE2E-2024)

Match the following:

Part1 Part II

(a) India 1. Bald Eagle
(b) Japan 2. Dolphin
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34.

35

(¢) United States 3. Peony
(d) China 4. Cherry blossom
5. Royal Bengal Tiger
LY edTeupeustTelmemm QUITIHS S8

LUG&S 1 UG&S 11

(a) @bBH W 1. UWHME HW &

(b) saLirmedT 2. LmeuLieor

(c) s1Qwifl&ssm 3. LGwimeof]

(d) Georm 4. Q&mifl newj&F
5. TF aUmIGLIL 60

Codes:

@ Mm @ @

A 5 2 3 4

B) =2 1 4 5

e 2 4 1 3

D) 5 3 1 2

(E) Answer not known (CCSE2E-2024)

Identify the correct expansion/meaning of "CEDAW"
(A) Convention of the expansion and development of Adolescent Women
(B) Convention of the execution of different ideas for women
(C) Convention on the elimination of all forms of discrim against women
(D) Congregation of the eradication of all forms of discrim against women
(E) Answer not known
LNesreupeusoreumnilev "CEDAW" eteorm elifleumd: a8 8 60T/QUIMIHen6T CHITHA S H &S LD.
(A) auemi@erid Li[HeULIQ LIeuoraserledT (etTGeormmLd Lommild eNlifleumd s wmBm(h
(B) QLI600TS: @15 & & T60T LIGVE6UMI &(HE S ([H6UTHSHMBIHEMET H6o L (LPemMLILIGSSID LOMHT(H
(C) QUETITEHEB & THTM6T |emeTs Sl g LIMEGUITL I emeoTWLD B8 GLD
I C)
(D) QLICTOTSH @B G 6TH T 3ien6TsH g allg LIMGUITLIgemeTu]n spLdlliL]
(E) e asflwelevemey  (CCSE2E-2024)

Which one of the following is a one-stop source for all the geograpy data for the state of Tamil
Nadu?

(A) Tamil Nadu Geographical Positioning System (TNGPS)

(B) Tamil Nadu Geographical Information System (TNGIS)

(C) Tamil Nadu Global Information System (TNGIS)

(D) Tamil Nadu Global Positioning System (TNGPS)

(E) Answer not known

www.vetriias.com 9884421666/9884432666 12



http://www.vetriias.com/

36.

37

38.

SOLBT6H WTHlVSEH METET emeTs S LUy 765 Ehs&s G0 LlaTal el 6Tal G
QL &H 6V 2 _6Ters?

(A) spBEITG Ledlullwev mlemeuliLI(hHH60 26mLiL]

(B) sWllBr@® Lelullweh 586160 SjemoLliL

(©) sWLBTMH 2 evsmaTTellll H856160 3(6mLDLIL

(D) sWllpBr@m 2 evsearmalll BlemeuliL(h&H60 SemLLiL]

(E) efleo asflualevemev  (CCSE2E-2024)

If 1, 2, 2, 3, 3, 3 are the faces of a die, 2 such dice are rolled. In how many cases 2 die face is
bigger than 1t die.

(A)3 (B)5 (©)8 (D) 11

(E) Answer not known

1,2,2,3,3, 3 WSS Q&TeoTL @) (H L& 86T 2 (HLLLILGW QUITWS!, NSV
LGen L WI6T (& G LIt el @) TevorLMeugl Ligen L uler (s IDFHLIL] AFH&HIDTH @) [H& 5
GUITUILIL|&H6IT 6T &5 60)60T ?

(A)3 (B)5 (C)8 (D) 11

(E) efleoL asflwalevemev (CCSE2E-2024)

If Rs. 10,890 is divided among A and B groups in the ratio 4:5 then the group B's share is
(A) Rs. 1,210 (B) Rs. 4,840 (C) Rs. 6,050 (D) Rs. 5,445

(E) Answer not known

€. 10,890 & A LoHMILD B 6T60TM @\ (H G W ESHEHES 4:5 eTeorm NlFR&HHH 60 L5518
Q&THHHTL B Galm@ HemL_ GG QS Tends 6T60T60T ?

(A) ep. 1,210 (B) em. 4,840 (C) em. 6,050 (D) eb. 5,445

(E) e asflwalevemey  (CCSE2E-2024)

Match the following correct Institutions with its location:

(a) NIFPHATT 1. Bangalore

(b) CICEF 2. Kochi

(¢) NFDB 3. Chennai

(d) CAA 4. Hyderabad

LN 6tTauBLD B M6 60T IS em6T (56T &Fifluimest @LILILGSIL 6T QLIMHSHS6]LD:
(a) NIFPHATT 1. QUMISGEBIH

(b) CICEF 2. Q&TFF

(c) NFDB 3. Q& coTEm 60T

(d) CAA 4. QNG TTLTS

@ b © @@
A) 1 2 3 4
(B) 2 1 4 3
© 2 4 1 3
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(D) 3 1 4 2
(E) e asflwalevemey  (CCSE2E-2024)

39. The Gupta emperors before Chandragupta-II issued only coins.
(A) Gold (B) Silver (C) Tin (D) Copper
(E) Answer not known
@TEOTLITD FHHT GLISHHGS (LHMS W G158 LDEOTEOTTE6T [HIT600T U Mg em6rT L (HGLD
QeuefuilL_Leor.
(A) smIsLD (B) Qeueierfl (C) &y (D) Q&by
(E) efleoL asflualevemev  (CCSE2E-2024)

40. Haque-i-Sharb (or) Hasil-i-Sharb means
(A) Land Tax (B) Irrigation Tax
(C) Commercial Tax (D) Toll Tax
(E) Answer not known
QAMITE-E@)-q T 360605 aM6ofl6v-@)-AQ T LI 6T60TLISH 60T G)LITIH6IT
(A) Blev aurfl (B) Byliumnseor eurfl
(C) euewntlas eurfl (D) &miss eurfl
(E) allewL 0sflwelevemey  (CCSE2E-2024)

41. The Neyveli Lignite Corporation was established t Government of India in the year
(A) 1956 (B) 1972 (C) 1980 (D) 1959
(E) Answer not known
QBUIGIEIN 608 emenTL. ST LGCTO].60T HlmieueTid @)HE U S{TEFMeV Blmieulir L gl?
(A) 1956 (B) 1972 (C) 1980 (D) 1959
(E) e osflwelcvemey (CCSE2E-2024)

42. Arrange the following universities in chronological order be the year of establishment:
(1) Manonmaniam Sundaranar University
(2) Bharathidasan University
(3) Thiruvalluvar University

(4) Periyar University
A) (2), (4), (1), (3) (B) (2), 1), (4), (3)
(©) (1), (2), (4), (3) (D) (1), (3), (4), (2)

(E) Answer not known

LN 60TeUHLD LI6D&H6M6V 8808 B15&HM6T | 6m6l BlMIauL L L 2,600TLq 60T &mevelif]
62 (LD MBI & 600 & &6 LD

(1) GeuTmedTIN 6o WLILD SIS TEOTTIT L6V 6M608 8080

(2 UMTTHBTEFET LL&HMEHEHLPELD

(3) B BeUETEBAIT LILHEMEVEHHLPEHLD
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43.

44.

45.

46.

(4) QUAlWMTT L6L&HEMEVEHLDSHLD
A) (2), (1), (1), (3) (B) (2), (1), (4), (3)

(©) (1), (2), (4), (3) (D) (1), (3), (4), (2)
(E) e asflwalevemey  (CCSE2E-2024)

Arrange the following studies of Poverty in India in chronological order:
(1) Ojha's study

(2) Bardhan's study

(3) Minhas study

(4) Dandekar and Rath study

(A) (2), (4), (1), (3) (B) (1), (1), (3), (2)

(©) (3), (2), (1), (4) (D) (2), (1), (3), (4)

(E) Answer not known

@B wWmellev eumiemin LMmmiw LNeTeuhLd SblUli6 & emeT &mevelflens Ll
62(LDMRI & 60D &H &6 LD:

(1) g ayliley

(2) uFs T Syl

(3) Wsrammev oy lie]

(4) BEOUTCL &Y LOODILD TS pUl6)Y

A) (2), (4), (1), (3) (B) (1), (4), (3), (2)

(©) (3), (2), (1), (4) (D) (2), (1), (3), (4)
(E) e asflwalevemey  (CCSE2E-2024)

What is 20% of 30% in 500?

(A) 30 (B) 150 (©) 75 (D) 100
(E) Answer not known 500 @6t 30% L0GIL1L960 20% eT6dTEOT?
(A) 30 (B) 150 ©) 75 (D) 100

(E) e asflwelevemey  (CCSE2E-2024)

Find the missing number in the series. 4, 18, 7, 100, 180, 294, 448

(A) 48 (B) 50 (C) 58 (D) 60

(E) Answer not known

QEHMR&H&SIULL Qs TLfledmha ellGLIL L 6T6t0Tene6mors &Teors. 4, 18, 7, 100, 180, 294,
448

(A) 48 (B) 50 (©) 58 (D) 60

(E) el aaflweillsvemev (CCSE2E-2024)

The sum of first n natural numbers is 253, then find the valu
(A) 22 (B) 18 ©C) 24 (D) 16
(E) Answer not known
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47.

48.

49.

(LG6L N @)ULIGV 6T6ooTSH6T160T B (60 253 6T6uT16V, 11-@)60T LDGHLIL| &IT6U0T.
(A) 22 (B) 18 ©C) 24 (D) 16
(E) allevL sflwalevemey  (CCSE2E-2024)

Which of the following Harappan sites are not in India?
(A) Mohenjodara and Harappa

(B) Lothal and Kalibangan

(C) Bhanwali and Ropar

(D) Surkotada and Dholavira

(E) Answer not known

G LD G 55600T LU MMIGT 6Th& eMITLILIT BM&HIHS &eThI&G6T SHOLMWS @hSH wmaley
(A) QUOTSBEFSTEIT WMHMID QMIFLILIT

(B) Geurmg g6v LDMMILD &m0 LIMI&s 6T

(C) uemeumedl LDMMILD eBHLIMT

(D) &CasmLmLT mmid Csmevmellym

(E) e asflwalevemey  (CCSE2E-2024)

Around 25 districts in the east coast; 10 in Tamil Nadu, 7 in Andhra Pradesh, 6 in Odisha and
2 in West Bengal are vulnerable to cyclonic storms. Among these, which area accounts to 70
percent of the cyclones of severe categories? (Refer TNPSC Key)

(A) Chilika region (B) Nellore region.

(C) Machillipatinam (D) Sundarbans Area

(E) Answer not known

FPHGEH HLOHGoTU &My 25 WML LBEI&HET SPEHTLIQE 10, SphHTmeale 7.
@Fmaley 6 WMHmID CLMEG RISGSHH 2 Goralef] LWeserme LUMTHESILLE
Falqlemel. @eumnilev eTHSLI LIGH TS &Hennwmer auensll Ljweusefley 70 5565
UMHILIemL {60 U|D?

(A) Bellam LGS (B) Omevey LGS

(C) &R AILILLIg6oTID (D) & yeueTliLIGS)

(E) ellevL asflwelevemey  (CCSE2E-2024)

The United Nation has declared 1987 as

(A) International year of Girl Children

(B) International year of Shelter for the homeless

(C) International year of Women

(D) International year of Cleanliness

(E) Answer not known

1987- 915 BER W BITL(H Feoul AMlels S S

(A) auGHF QILIGIT &HLPIHENSHEHET 2,600T(H)

(B) 76uCsIm 2_ammailL LD @6VeVTHaITHEHHES 2 mMailL LD aILPMHIG LD
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50.

51.

52.

53.

(C) siauCs T n&6fIE S TeT 3,600 (H

(D) #1euCsE &8585 MM 24,6007 (h)
(E) efleo asflualevemev  (CCSE2E-2024)

In which year Flipkart signed a memorandum of understanding with the Tamil Nadu MSME
Trade and Investment Promotion Bureau?

(A) 2021 (B) 2018 (C) 2001 (D) 2011

(E) Answer not known

61hs apevor( Wefllsmil, swWlpmsm® MSME aisssld womib  2os@ellliy
L &leoorie)] Lieool &S SIL 6T @LILBSSH 0 en&HQUWWSH L L SI.?

(A) 2021 (B) 2018 (C) 2001 (D) 2011

(E) e asflwalevemey  (CCSE2E-2024)

cat=abc
If dog=def

Then which one of the following may be equal to TT:

cba cba chn chn

(A) — (B) — (€)— (D) —

aec ace ace aec
(E) Answer not known

cat=abc - o or Q@mbBSTE tan 6T60T LI &1 LI160T6U ([H 6V 60T6U M MIGIT 6T&H 60TV & M8 &HLILIL6VITLD?
dog=def cot .
cba cba cbn cbn
@) = (B) — ©— (D) e
aec ace ace aec

(E) e asflwalevemey (CCSE2E-2024)

E&GBDM4NKH2ACZSV3F1JLOQ5PR

What will come in place of question mark in the following sequence?

GDR BMP D45 °?

(A) MNQ (B) 4NQ (C) MKO (D) M4Q
(E) Answer not known

afleorm GMIUT_BHHGSLI LF6LMs B QST 6TSI?

GDR BMP D45 °?

(A) MNQ (B) 4NQ (C) MKO (D) M4Q
(E) e asflwelevemey  (CCSE2E-2024)

Assertion (A) : In India, the traditional small scale industries have greater employment
potential than the modern small scale industries
Reason (R) : The value of capital per worker in traditional small scale industries is
smaller than the value of capital per worker in the modern small scale ind
ustries
(A) Both (A) and (R) is true and (R) is the correct explanation of (A)
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(B) Both (A) and (R) is true but (R) is not a correct explanation of (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

(E) Answer not known

Famol (A) 1 @BHwmallev umybufl FMCSTHEET AFE Gl TUILI6oL
Beier A M QG T6LEem6TellL 6 LD MG 5 6T M 60T

srgeoord (R) : unmpbuflu Omesmbleseflen Qamblevmarhe @& CoHeameullL@ILD
ELN6LGET LDHILIL| GemMeUT&He D Heferr Flmi Qs mdlevserflev
Q&THeLTaT(HEHEG CHemalllLIGILD eN6VGE6T IDHILIL] SIS &I0MEE|LD
2 _6TeTgl

(A) (A) mmmitd (R) &ifl, (R) - apeoral (A)-6or &iflwiment ellengsasLn.

(B) (A) wmmmiid (R) &, (R) - o618 (A)-6o7 Fifliiment ellemd a1 3j6vev

(O (A) &1l apeormev (R) Geum

(D) (A) peumy oyeormev (R) &1l

(E) e asflwalevemey  (CCSE2E-2024)

54. Which of the following is correctly paired?

(i) Hematite Ore - Oxide of iron

(il)) Magnetite Ore - Black ore

(iii) Limonite - Dolomite

(iv) Siderite - Iron Carbonate

(A) (i) only (B) (ii) and (iii) only
(CO) (i), (ii) and (iv) only (D) (iii) and (iv) only

(E) Answer not known
L edTeuneusoTeummilev eTemal FiflWImg )6 60ord &1L (H6TeTeoT?

(1) @amweL L &r& - @ L L6T 2850 & (b

(il) GuseTemL L SISl - &ML ST

(iii) e9GLomemeoTL- - GLmevemLoL.

(iv) FllempgL - @ LU STILUGeTL.

(A) () L @w (B) (ii) nmomid (iii) L Hb
(©) @), (1) wmmud (iv) L HLD (D) (iii) ommmib (iv) LG

(E) ellevL asflwelevemey  (CCSE2E-2024)

55. Assertion (A) : Backward classcommission under chairmanship of B.P. Mandal was
appointed by the President in exercise of the powers confessed by Article
240
Reason (R) : The commission has developed eleven indicators to determine
backwardness
(A) (A) is true, (R) is false
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(B) Both (A) and (R) are true and (R) is the correct explanation of (A)

(C) (A) is false, (R) is true

(D) Both (A) and [R] are true, but (R) is not the correct explanation of (A)

(E) Answer not known

(E) Answer not known

Famml (A) : FLLUHle) 240607 ep6UD FH60TEHEG QUIPMBIGLILILL FH&HTISH60TLIG
eaTTH LS B.P. nevorLev eteoTLIeuenT LIHLUMGSSLILIL L
QUG LI 60T(H & & ITEOT 2,6M600T WIS H6m6eVelTMss BlWLOGSTT

&mgevortd (R) @ @eueumemeoorwid LNedTsmIG W Blemevenil SLnmefl&as LIS Q et
GMISBTL L) S6MET 2_(H6UTE S U|6TenSI

(A) (A) &l (R) meuay

(B) (A) mmoid (R) &1, (R) (A)wilsnienLwi &iflwimeor eflemg &L

(©) (A) sauy (R) &ifl

(D) (A) nmoid (R) &ifl ayeormev (R), (A)wileiemnLw Fiflwimeor ellemg &L

(E) alleoL 0zflwelevemev  (CCSE2E-2024)

56. If fox = cat then xerox may be equal to
(A) terct (B) tcroa (C) tcrot (D) terat
(E) Answer not known
fox = cat eTevfl6L Xerox eTedoTLIG! 675601607 &M &GS
(A) terct (B) tcroa (C) terot (D) terat
(E) e asflwalevemey (CCSE2E-2024)

57. Three dice thrown at once. Find the probability of getting same numbers in all dice

1 1 1 1
(A~ B¢ © (D)7
(E) Answer not known

ELOGTTMI LIGEDL &6 6TMMTEH 2 (HLLLILGWECUTS 666 S LG Uil Gy erevor
TG Bl&HLDSTH6) 6TE0T6T?

1 1 1 1
(A= (B)5 ¢ © (D)

(E) ellevL asflwelevemev  (CCSE2E-2024)

58. Atribe of India is (Refer TNPSC Key)
(1) Connected with Eklavya in the epic Mahabharatha
(2) Lives in Aravallis, Vindhyan and Satpura Ranges
(3) Hutment on a small Hillock
(4) Maize is their staple food
With tribal group of the following suits for the above conditions?
(A) Gonds (B) Todas
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59.

60.

(C) Bhils (D) Santhals

(E) Answer not known

FLDESH TN Fo MM EHE G @BHEH UMl 6T 6(H LILOMBIGIQUI6TLD 6TSHI?

(1) LeETUMTS QH&TF HSTLILMSH LD F&HM6VEISIL 60T QG TLIT LML WaITEH6T
(2) <Teu6ved, S W LDMMID FSLITT LD6MEVE QST T&H6Tl60 aUMLDLIGITE6T

(3) Al GeTaseafleL GYmF MGG eV

(4) WESTE ComaTCL LNTSHTET 2_600T6)

(A) Gamevor(H Bs6T (B) GamL &6

(C) Yevev (D) Frhseus6T

(E) efleo sflwalevemey (CCSE2E-2024)

Inorder to double the Farmer’s income through digital technologies, action should be taken

from

(i) Technology generation and dissemination, policies and reforms and development
initiatives

(i1) Policies and Reforms

(iii) Reforms and Development

(iv) Artificial Intelligence

(A) (i) only (B) (1) and (iv)

(C) (ii) and (iii) (D) (iv) only

(E) Answer not known

9l L6y QsTleuBL LIMBIGET epevld elleusmuisefler au@LTaTSams @ TLIQLILITSS

T(H & GaUenoTlq U HL 6L &H60) &

(1) QsmhlevmL LI 2 (hEUMSHHID IDMHMID LTI, Q&TeTen&H 6T MM FFH ([He S BI&H6iT
LMHMILD eUeTIES 2618 &) & 6T

(i) Q&maTeM&SHEHD, EFH (HE S MHISEHLI

(iil) ErH IS5 M &EPLD, (PETCETHMEUALD

(iv) QsWwmen s mievorevor mle|Lh

(A) () L@ (B) (i) mmoub (iv) L @GIb

(C) (i) wmoyuib (iii) (D) (iv) (b

(E) elleoL asflwelevemey (CCSE2E-2024)

Match correctly the following foundations with their corresponding names :

(a) South Indian Liberal Federation 1. A. Singaravelar

(b) Kudiyarasu Journal 2. C. Rajagopalachari

(c) Emergence of Labour Oragnisations 3. Thanthai Periayar

(d) Swatantra Party 4. C. Natesan

LN6dTeU(HLD 319 SHSETHIGHEM6T 3G QSTLIL LW QUUWISCTTH FflWms QUMThES S8
(a) Qs eTerllbH W Hev 2_[flemlnd FmIGSLD 1. A. OB&ETIQeI6V]T

(b) sWrs Q&L 2. C. prCsmumeuramif]
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(c) QamiflevmeTy emLnLiL|gs6rflesr G&meTarTLn 3. sheng Quiflwumy
(d) 75H8 7 &L& 4.C. pCL&eT
@ ® @ @@

A) 4 2 1 3
(B) 4 1 2 3
((0) I | 3 1 2
(D) 3 4 1 2
(E) Answer not known (CCSE2E-2024)

61. A can finish a job in 6 days whereas B finishes it in 12 days. The time taken to complete the
job working together is
(A) 6 days (B) 4 days
(C) 8 days (D) 3 days
(E) Answer not known
A ereTUOT @@ Couemevemnl 6 BT Gerflevd B eteotLiouf 12 BT serflewid (ol Lif erevflev,
@ [HEUIHLD RETMTEHE CEFFHE AUHS CeUmeVemU 6185 6M60T HITL_&e6rfley (LY LILF?
(A) 6 BITL_&6iT (B) 4 BT _&s6iT

(C) 8 BITL_&s6iT (D) 3 mUL_&e6iT
(E) allewL asflwelevemey  (CCSE2E-2024)

62. A swimming bath is 24 m long and 15 m broad. When a number of men dive into the bath,
the height of water rises by 1 cm. If the average volume of water displaced by each man be 0.1
m3, how many men are there in the bath?

(A) 32 (B) 36 (C) 42 (D) 46

(E) Answer not known

@M BFFe Gerd 24 WLLT Herwid 15 WLLT SH0WWD Q&ML Sl &MLl
6T600T 600 18560 & W GLITETT Y, 600T&H6T BHE GeMEHH eV GHEHGW Cumgl, Bifledr 2 Wb e
QF .S 2 WFRMSI. @ 2,600 FIMFflwmg QeueflGwmmib Bifledr 9jemeay 01 L3 6Tevfl6L IHSH
BEFE G6TEHE60 6155601607 3, 600TG6IT 2_6TEITEOT[T ?

(A) 32 (B) 36 (C) 42 (D) 46

(E) e asflwelevemey  (CCSE2E-2024)

63. Which of the following statement is correct?
(a) Equitable development is the main target of Eleventh Five Year Plan (XI FYP)
(b) Rapid, sustainable and more inclusive growth are main targets ofEleventh Five Year Plan
(A) Both (a) and (b) are correct
(B) (b) alone is correct
(C) (a) alone is correct
(D) Both 9a) and (b) are incorrect
(E) Answer not known
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LY 6dTeu (HeueoTeUMMIET 6T&I & IflUlTeoTemeu?

(a) FsSsIQILDMET (NTCETHMLD 11618 BHHTT(HS FL_L &5 6T GHMTEHELDMEG LD

(b) @15 GeussL0MeT, BlEMEUIITET MHMID S SLILIGUITET 2 6TeML &SR aUeTIFS 11615l
OHSTOTH S HL_LSF 60T (LN&GH W GIHTEH 8 MIS6TTELD

(A) (a) mmmiid (b) @revor(id FiflwmeoTemeu

(B) (b) L@ Frflwmers:

(O) (a) L@ Frflwmersl

(D) (a) npayid (b) @Uestr®LD Seumesreme

(E) e asflwalevemey  (CCSE2E-2024)

64. Densification and compaction are unit operations that are used to increase the density of
recovered materials to reduce transportation costs and simplify storage. This method is used
in (Refer TNPSC Key)

(A) Composting of degradable waste in MSW

(B) Transportation and Transfer station storage of MSW

(C) Construction of landfill site for MSW

(D) Processing and the Recovery of waste components from MSW

(E) Answer not known

ILISSH WMMID &FHEHSHD 6raTLE CUTHGISSIF QF6HM6TS GHMMLILIGMHESLD,
CrulllLusGms 6refaTeHEGasNGD, WEQLMSHULULL QUL seflear 9ILTsSHeamul
A5 &flEs0 LUWeaTUGWL v QFWOLTHSET WG, @bs wemm LNeaTalmd 6hHs
WenmuileL LWeTURSSLILIGSHMSI?

(A) MSW@6L 0&@LD &L16DLIG 06T 2_[JLOITE @ &6V

(B) MSW@etr GUIME&6UTE S nmmitd Uflinmmm Blemevw G& Ll

(C) MSW&ameot mlevld BITLILILD &6 60T &L (HILDT60TLD

(D) MSWell b8! 06 o MI&Hem6TEF Q& W6VTEHGSH60 LoMMILD WL 6L & 560

(E) e asflwalevemey  (CCSE2E-2024)

65. The Pakistan resolution was passed by the All India Muslim League at its Lahore Seesion on
(A) March 5t 1933 (B) August 5th, 1933
(C) March 231, 1940 (D) Marcg 22md, 1941
(E) Answer not known
FH e QBT (WeveSid 5&LMTRVSTET GITIDMOTHMES VMG DMHBITL 1960 6TLIQLITLD S

BlenmCeaummilulg1?
(A) rj& 5, 1933 (B) sy&6vl 5, 1933
(C) orriyE 23, 1940 (D) nmyE 22, 1941

(E) e sflwalevemey  (CCSE2E-2024)

66. The curved surface area of a right circular cylinder of height 7 cm is 66 cm2. Find the diameter
of the cylinder

www.vetriias.com 9884421666/9884432666 22



http://www.vetriias.com/

(A)2cm (B) 4 cm (C©) 6 cm (D)3cm

(E) Answer not known

66 F.Q&F.15 euemeTUTLILemLW @ GhIal L 2 (hemerulledr 2 WJWLD 7 Q&F.L5 erefley,
2 memeruilesr el L LD &Teoorss

(A) 2 Q&5 (B) 4 Q&8 (C) 6 @F.18 (D) 3 Q&8

(E) e asflwalevemey  (CCSE2E-2024)

67. The value of a motor cycle 2 years ago was Rs. 80,000. It depreciates at the rate of 4% p.a. in
first year. In second year it increases by 4% p.a. Find the present value
(A) Rs. 76,800 (B) Rs. 80,000 (C) Rs. 80,128 (D) Rs. 79,872
(E) Answer not known
@H FHHT UMD 6eTMI6T allemey @) Tesor(h 2u,600T(H G EH&HE (LN6T ehH. 80,000. (L&Y
24,600T(h) 60T NS 4% GSODEMSI. @ TetorL LD 4,600T(h 4% A &SR MS) 61601160 & 60T
SHCUTeMSW 6lemey 6T6oT6oT?
(A) em. 76,800 (B) em. 80,000 (C) em. 80,128 (D) em. 79,872
(E) efleoL asflualevemey (CCSE2E-2024)

68. Match the following

(a) Tax Revenue 1. Interest receipts

(b) Non-tax revenue 2. Net market borrowings

(c) Capital receipts 3. Taxes on Income and Expenditure

QUMTBHSSI S

(a) eurfl eu@BeUTUl 1. el TEg

(b) aurfl ®16vELITE QuU(HEUTU 2. Bl&T FHENG 8L 6075 6T

() eevger TESIG6T 3. QU(BLOTET LDMHMILD QF6V6 LSS TeoT aulfl G 6T
@ M (o

A 3 1 2

(B) 1 2 3

© 2 1 3

(D) 3 2 1

(E) Answer not known (CCSE2E-2024)

69. According to 2011 census, the density of population in Tamil Nadu is
(A) 450 per square km (B) 555 per square km
(C) 650 per square km (D) 750 per square km
(E) Answer not known
2011 ID&:56T QFH TN &60oTE6 &M L1LN6TLIY SLALDBTL Q6T ID&HH6T Q&GTaNS 3L F&HS
(A) 450 @ 5317 .15 (B) 555 @@ &8I0 &).15
(C) 650 ® F&17 .16 (D) 750 @® &a17 &5
(E) efleoL asflwalevemev  (CCSE2E-2024)
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70. Tamil women who were competent in literature, music and drama were called as
(A) Mudukkuravai (B) Mudinmagali
(C) Viraliyar (D) Kanigaiyar
(E) Answer not known
@6eVEHWLD, @6ng, BITL&HLD &Hwemnlel CHIFFR QUMM SLOILDLI GLI6OoTS 6T
6T6EOTMI 3|60 LN GG LILILL60TIT
(A) wasGmenel (B) wogestingserfly
(C) eflgeSlwiy (D) seooflemawiiy
(E) efleoL asflualevemev  (CCSE2E-2024)

71. The northern upland of the Karnataka Plateau is known as

(A) Malnad (B) Betwa

(C) Dhasan (D) Maidan

(E) Answer not known

SIBTLS LT L8luller euL_& @ mlevLiLFLiL 6T60T Q| MLPSHSELILIOR S
(A) meumBm@H (B) QuLeumr

(C) smFer (D) emioL_reor

(E) alleoL asflwalevemey  (CCSE2E-2024)

72. Which Ministry launched the Digital Intelligence Platform (DIP) and “Chakshu” facility on
Sanchar saathi portal?
(A) Ministry of Power
(B) Ministry of Civil Aviation
(C) Ministry of Communications and Information
(D) Ministry of Earth Sciences
(E) Answer not known
6THS SIMDEFFEHID FEHFMT FM5H CUMTTLLN6 19l L6) Hevoreoormle] ST WMHmILD
"FTHG" UFH W QS TLHRIG W S?
(A) etT SyeMDEFFSHLD
(B) ®aflev allemnmenr GUMTHGUTSS! SIeNDFFEHLD
(C) 356160 QFTLIL| SeMDFFSHLD
(D) yall Mlefwiey SiEMDFFSLD
(E) ellevL asflwelevemev  (CCSE2E-2024)

73. Find the simple interest on Rs. 68,000, at 16 é% per annum for 9 months
(A) Rs. 7,500 (B) Rs. 8,500
(C) Rs. 6,500 (D) Rs. 5,500
(E) Answer not known
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2L,600T(H QUL 19 NG LID 16 2% erenflé . 68,0005 RETLIS IDMSHBIGHEHHEGSG H60fl aul1q
3

6T60T60T?
(A) em. 7,500 (B) em. 8,500
(C) em. 6,500 (D) em. 5,500

(E) e asflwalevemey  (CCSE2E-2024)

74. IfA:B:C:2:3:4then§:§:§isequalto

(A)8:9:10 (B)8:16:24
(C)8:9:24 (D)24:9:8
(E) Answer not known

%:gzgamﬂmg:?:%mm@uu

(A)8:9:10 (B)8:16:24
(C)8:9:24 (D)24:9:8

(E) efeoL asflualevemev  (CCSE2E-2024)

75. Which among the following is correct regarding the target of literacy in Tenth Plan?
(A) to increase of literacy to 75% within the plan period
(B) to increase of literacy to 80% within the plan period
(C) to increase of literacy to 70% within the plan period
(D) to increase of literacy to 85% within the plan period
(E) Answer not known
LY 6BTeu (H6UeoTOUMMIET LIS & Meor(h) &TevSH 6V Fiflulmest sevallwinle] QSITLTLITET @608 &
(A) BLLEETVESH O 75 all(paaTLTs svallunellsy 2 wiie)
(B) 9L L&&MTEFH 0 80 allp&H&TLTS Hvallunellsy 2 wiey
(C) BLLESTVEFH O 70 lW&HSTLTS Hallwnellsy 2 wiiey
(D) B L&smuEH 0 85 al(WEHHTLTS Sevallinalley 2 wife]
(E) e asflwelevemey  (CCSE2E-2024)

76. Consider the following statements and identify the correct answer

(A) The Central CIC is eligible for reappointment but the State CIC is not eligible for
reappointment

(B) The State CIC is eligible for reappointment but the Central CIC is not eligible for
reappointment

(C) Both are eligible for reappointment

(D)Both are not eligible for reappointment

(E) Answer not known

FBLP&H MDD FnMMEHEMET HHSH L Q& Teoor(h), Fiflwmer ellemnLenwsd CHTHOH (&5

(A) DEH U HMEVEID FHFHEU) 3L60I600TUI([HE G DMIBILILDGTID FMTSHH WD, L60TIT6 LOITHI6V
FHEMELEDLD T 86160 3L,60)600T UL ([HE G LDMIBILILDETLD &FT& S UILD6V6Y
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(B) ommlev H6mevenin HEHAU6D 3,60)600T LI ([HEE LD MIBIWILNETID FTSEHILILD, S60TM6V DSSH W
FHEMEVENLD 60600 WI(HEG LDMIBILILDETLD FME S UILDEV6Y

(C) @mau®msHE&EL WMIBIWLDETLD FMTEHS) WD

(D) @meu@®& &G LMIBIWLDETLD &FMTEH S UILD6EV6Y

(E) efleoL asflualevemev (CCSE2E-2024)

77. Recently in Dubai, cloud seeding technology is used to get artificial rain. The most commonly
used seeding agents among the following are
(1) Silveriodide
(2) Dryice
(3) Sodium chloride
(4) Lead iodide
(5) Ammonium sulphate
(A) (1), (2) and (3) only (B) (3), (4) and (5) only

(C) (1), (3) and (5) only (D) (1), (3) and (4) only
(E) Answer not known

Ilevoremiouiev, HILMTUIL Gs allemslil] QSTLEHIL LD QFWMeNs nempemul QLM
LweTU®QSSLILL LS

L9 6T 60 (T 61 60T 6 (D M1 67T cTem6L QUISIAIMTS allensLiLy (PSHEUTSHETTS
2 LCWMR&GSLILGSS LGS 6TMme6r?

(1) Qeueiterf] GWImemL ()

(2) 2_evly 6ol

(3) Gomywid &GeTmenF(h

(4) Fw sGWmeL (D

(5) WGwmefluwh FeLGLIL

(A) (1), (2) LHoID (3) LLEW (B) (3), (4) npmid (5) L@

(©) (1), (3) HmIb (5) WLHID (D) (1), (3) Hmid (4) LLGHID

(E) e asflwelevemey  (CCSE2E-2024)

78. Arrange the following events in chronological order about E.V.R
(1) He became the President of Jusitice Party
(2) He joined Congress
(3) He became President of Tamil Nadu Congress Committee
(4) He organised Vaikom Satyagraha
A) (2), (@), (3), (0 (B) (4), (1), (3), (2)
(©) (2),(3); (4), (1) (D) (3), (1), (4), (2)

(E) Answer not known

F.Qeugm Lumm &mev eufleng Ll LNeTalhLd Bl&HLD6)| 5606 6 (LD MBI 60N &S 6| LD
(1) eur BH& &L FUINGT Semevall LeoTTT

(2) siauy srHEIGFerde CFFHSTT
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(3) eur sLPBTH STHRIG TV &L 1QUN6ET Hemeval L, 6oTT
(4) emeuGED FEHWTHTHLD SIGH T
A) (2), (4), (3), (1) (B) (4), (1), (3), (2)

(©) (2),(3), (4), (1) (D) (3), (1), (4), (2)
(E) e asflwalevemey  (CCSE2E-2024)

79. “Vaanalum Selvamum Mannarasum Yaan Venden”
[T don’t want rule the sky, wealth and monarch]
(A) Ramalinga Adigalar (B) Sudarar
(C) Nammalvar (D) Kulasekharar
(E) Answer not known
"QUITEOTITEBHLD Gl&F6VEU(LDLD LDEDOT600T [T LD WIT6OT G 61 600T GL_60T" — 6T6OTMI LITLQ UIGU T
(A) @urnedimigs o &6y (B) &s0y
(C) mOWOTLpEUTT (D) ®evCesmyy
(E) e asflwalevemey  (CCSE2E-2024)

80. There are four cell phones in a house. At 5 a/m. all the four phones will ring together.
Thereafter, the first one rings every 20 mins, the second one rings every 30 mins, the third
one rings every 40 mins and the fourth one rings every 50 mins. At what time, will the four
cell phones ring together again?

(A) 1P.M. (B)1AM (C)3P.M. (D) 3 A.M.

(E) Answer not known

[ 61960 [HITETE 2 6M6VCLIT) &6iT 2_6TET60T. STEM6V 5 L0608, 6T6V6VIT 3606V ELIF & @EHLD
RIS &GGW. L6l WH SmeuCLFRTTE alQeum@ 20 BIWLmigseflsil,
@UeoTLToUgE HemeuCLE alGaum@® 30 B MmGefleuld, epneTmmald 3 emevaL
@61QaUMH 40 BIOLBIS6 D, BTTEHTaIS MVELT @alGQeum@ 50 Bl migerailb
60 &G 6T et 6T6vflev, jemeu LT6ooT(HILD 6TLIGLIMSI 6R60TMITS 626018 GLD?

(A) NHuUs6L 1 nevor (B) wpmLIss6v 1 Ln6vof]

(C) Hussev 3 nevor] (D) wpmLIss6v 3 Ln6vof]

(E) e asflwelevemey  (CCSE2E-2024)

81. If HCF of x3 -8y3 and x2 — k2y2 is x + ky then value of k
(A) 20or—2 (B) +2
(C) -2 (D)o
(E) Answer not known
x3 -8y3 IoMmmih x2 — k2y? &1 ISLIQLIIH QUTS UGS X + Ky erenflev K 601 oS 1LY
(A) 2 9j6vevE — 2 (B)+2
(C) -2 (D)o
(E) efleo Qsflwalevemev  (CCSE2E-2024)
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82. Match the following

Enacted Year Name of the Act

(a) 1963 1. Prevention of Insults to National Honour Act

(b) 1991 2. Representation of People Act

(c) 1971 3. Government of Union territory Act

(d) 1951 4. Government of National Capital Territory of Delhi Act

QUMTHS S

@ummUiUL L 9600r(h FLLSH 60T QW

(a) 1963 1. BITL 19607 QLIHENLD eUNHHELILIM NS FH6emL
QFWIWLh FLL LD

(b) 1991 2. 10&:&6T UITHBISHSSIaF FLULID

(c) 1971 3. @BH W eeTMWL UGHE FL L LD

(d) 1951 4. GRS 5V HST GIL6Ved eI LUGHE FL L LD

@ b ©© @ @

Aa 1 4 2 3

(B) 3 2 4 1

© 2 3 1 4

(D) 4 1 3 2

(E) Answer not known (CCSE2E-2024)

83. Which one of the following is false with regard to the reign of Ahmad Shah?

(A) He transferred his capital from Gulbarga to Bidar (1425)

(B)The rivalary between the Dakshin party and foreign party became
accentuated during his period

(C) He conquered Warrangal in 1424-25

(D) He annexed the kingdom of Gujarat to his Empire

(E) Answer not known

9508 aqmafler 9l Fluller GG GMILILNL Laimniléy 618 Sealmmergi?

(A) semevbsmT GeoLITEsTlNmBS! LT_MTheG Wrhnilermy (1425)

(B) sjauf sMusdHe LEFaT GwallhGld Qeuelbm(hé GWelsGh @ enLulevmeor
Gmgev LM CUEFLILIL( aubsH S

(C) 1424-251D 24,600TI9.60 GUITTMEIGHEV 6T60TMN Q)LD eM&HLILIMMLILILL S

(D) &2rms o/pend 56T GUITTH L 60T @)60)600T5 S5 GG T60oT LT

(E) e asflwelevemey  (CCSE2E-2024)

84. Who called India as “Ethnological Museum”?
(A) R.C. Majumdar (B) R.K. Mookerji
(C) H. Risley (D) V.A. Smith
(E) Answer not known

@BEHWIT (b "L0601H GH6VHH 6T 2(BMBISTLFIUISHLID" 6T60T 6MLPSSH6UT WITF?
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(A) @u7.6). DgOWDGT (B) ©47.G&. (p&r g
(C) @amé&. flerved (D) &f.¢g. erud5
(E) efleo asflualevemev  (CCSE2E-2024)

85. Reaching the place of meeting 20 minutes before 8.50 hrs Sunil found himself thirty minutes
earlier than the man who came 40 minutes late. What was the schedule time of the meeting?
(A) 8.00 (B) 8.05 (C) 8.10 (D) 8.20
(E) Answer not known
Fal LD SamGasMHE& 20 BIWILLD (WeTerGLD Srevflev eTedTLIOUT 8.50 LD600I186E QEF6TMTH
MBIG Fanl LD SlaBIGaSNHEG 30 BIWILLD WeTearCr bl L L&MTS 2 60orFhEHTY. 0
D6fl&T Fal LEH MG 40 BIWILLD HTVHTINSIOMG QUBHSTT 67601160 &nl L LD SHaUEIS GHGHSH
GIBIJLD 6T60T6OT?
(A) 8.00 (B) 8.05 (C) 8.10 (D) 8.20
(E) efeoL asflwalevemev  (CCSE2E-2024)

86. A can do a certain job in 7 %hours B is 20% more efficient than A. How many hours does B
alone take to do the same job?
(A) 5 hours B)5 % hours
(C) 6 hours (D) 6 hours
(E) Answer not known
‘B’ etedTLIouf ‘A’ eTedTLIOUEMT L 20% SH&LOME Causmev QF WS MTT Ceusmeveni 7 % LD 6vor ]
GBISHe QFUIG WILSERMMTT ereflev, B LGOI AHS Cauemevenl QFUIG (DI&HS
615560607 LD6oot] GHILD T(HN & BI85 QG METEUTT?
(A) 5 eawfl @By (B) 5 ; 6wl GByLd
(C) 6 ewoll GBILD (D) 6 7 ngofl GBI
(E) e asflwalevemey (CCSE2E-2024)

87. Choose the right matches among the following

(1) Thiru. V.Ka - Desabakthan
(2) Subramania Bharathiyar - Hindu

(3) Annie Besant - New India

(4) Kasthuri Ranga Ayyangar - India

(A) (1) and (3) only (B) (1) and (4) only

(C) (1), (3) and (4) only (D) (2), (3) and (4) only

(E) Answer not known

LN etTeu(BLD e &HE G @ e Gl SFiflWmeT QUMTIHSSMHIGMETCH T Q& Ulwea|Lh
(1) ®@m.al.e - GHFLIG 560

(2) sugwessflw UTFSWTy - @bl
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(3) eTeoflQuUIF6DTL - BlWw, @HS Wi

(4) sevanfl phis SWwWBIsSTy - @bSwm
(A) (1) oo (3) LLBILD (B) (1) wmoid (4) LG
(C) (1), (3) Hmiid (4) WLLGID (D) (2), (3) mpmubd (4) LLHID

(E) efleo sflwalevemev  (CCSE2E-2024)

88. original name was Kumarasamy Nayak
(A) Kattabomman (B) Oomaithurai
(C) Dheeran Chinnamalai (D) Marudhu Pandiyar

(E) Answer not known

6T @WMHOUWT GLTIEFTL BITWESET
(A) L LQuITLDLD6dT (B) osremin g S1600T
(C) Betr FlevT60TLOEMEV (D) @®&! Limevor LWy
(E) e asflwalevemey  (CCSE2E-2024)

89. Find the incorrect statement about the Sarkaria Commission :
(i) The Commission was appointed on 1983
(ii)) The Commission made 247 recommendations
(iii) The Commission recommended to scrap the Article 356
(iv) The Commission recommended that the residuary powers of taxation should be given to

the states
(A) (iii) and (iv) only (B) (ii) and (iii) only
(C) only (iv) (D) (ii), (iii) and (iv)

(E) Answer not known

FUGSTHIWT 94606007 WD LML SEUMTET FamMnlenest & e6vorL_ &

(1) Frsemflum gLemeorlld 1983-10 3L600T(H) FHLMSSLILIL L S

(i) @Bs apememnrwid 247 LflHElmTGEameT oi6flH5 s

(iil) g0 356- BHGUSDHEG QBS Spememrwid LUflHsmIsss!

(1v) aurfleNSLILN6L 2 _6iTerT 6TEhTF W AUH&HTIHBIGET DMHleVmEIG6 LD Galetor(hLD 6T6dTMl @)H S
2pemesor WD Ll BSIen TS S

(A) (iii) oo (iv) WL GID (B) (ii) tommiib (iii) oL @GID

(O) (iv) L @b (D) (i1), (iii) o (iv)

(E) elleoL asflwalevemey (CCSE2E-2024)

90. "Tamil Nadu Day' celebrated every year on
(A) June 8 (B) June 18 (C) July 8 (D) July 18
(E) Answer not known
'SOILLBT(H HETID' REUGAITH UBL (N @) HS HeoTsHev Q& mesor T LILIHS M
(A) g6t 8 (B) eg©601 18 (C) m®emev 8 (D) eg®emev 18
(E) allevL asflwelevemey  (CCSE2E-2024)

www.vetriias.com 9884421666/9884432666 30



http://www.vetriias.com/

o1.

92.

93.

Which of the following is correctly paired?

(1) 2014 Target Olympic Podium Scheme

(2) 2023 Mera Yuva Bharat (MY Bharat)

(3) 1982 Sports Authority of India (SAI)

(4) 1984 Dronacharya Award was instituted

(A) Only (3) is correct

(B) (1) and (2) are correct

(C) Only (4) is correct

(D) (3) and (4) are correct

(E) Answer not known

GG G600 LeuMMIeL FfIWMEL QUITIHSSLILIL L E)60)600T 6Tem6U ?
(1) 2014 - 68DLE G Q&GS L L LD

(2) 2023 - ererg @6meTwl LIMFHLLD (MY LITTS)

(3) 1982 - @BH W allememuImL () 3b,emevorild (SAI)

(4) 1984 - smiGymevormEETA WM el BloelILL L g
(A) (3) LLEW &1l

(B) (1) wogid (2) &ifl

(C) (4) LG &1

(D) (3) whmild (4) &

(E) e asflwalevemev  (CCSE2E-2024)

Match correctly the Newspapers associated with its Founders:

(a) Richard Johnston 1. Madras Courier

(b) G.P. Pillai 2. Madras Mail

(c) Charles Lawson and Henry Cornish 3. Madras Standard

(d) G. Subramania Iyer 4. The Hindu
CaTHMNES5THEBLET QSTLIL LW QFUISHSSTemeT FlUIMe: QUTIHES S LD:
(a) flgar® QmeTa et 1. IDSTTeN Fniflwiy

(b) G.P. YeTemerr 2. I0SIMeN Gouiley

(c) FmFeven euIME6T LDMMILD Qamerfl &rrefleg 3. LD&FTe evLmeorL ()
(d) G. sLuynevoflw Wiy 4. 8 afflb s
(a) (b) (o (d)
A) 1 3 2 4
(B) 1 2 3 4
©) 2 3 4 1
(D) 3 2 1 4
(E) e asflwelevemey  (CCSE2E-2024)

In how many months the principal of Rs. 2,000 will double at 8% per annum in simple
interest?
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94.

95.

96.

(A) 144 months (B) 150 months

(C) 120 months (D) 140 months

(E) Answer not known

&60fl aUL_LQ eLN6VLD T 6V €. 2,000, 8% all 196755560 @TLIQLILIMTS 6T6UaI6T6)] DML

QGSLD?
(A) 144 DM BISET (B) 150 DM BIGET
(C) 120 DT MBIGH6T (D) 140 s mISE6T

(E) e asflwalevemey  (CCSE2E-2024)

The L.C.M. of 3, 2, 7and 0.09 is

(A) 2.7 (B) 0.27 (C) 0.027 (D) 27
(E) Answer not known

3, 2,7 LDMHMILD 0.09 60T LS.&).10

(A) 2.7 (B) 0.27 (C) 0.027 (D) 27
(E) e asflwalevemey  (CCSE2E-2024)

Which one of the following lies between 3/7 and /5

(A) V2 (B)V3 (C) V4 (D) V5

(E) Answer not known

ELhG s mevrLemilev a7l V7 whaid V5 @eummine @emLuey femuyLh?
(A) V2 (B)V3 (©) V4 (D) V5

(E) e asflwalevemey  (CCSE2E-2024)

Assertion [A] : Governor in the Indian Federal System assigned dual role, as the
constitutional He the State as well as the representative of the Centre.

Reason [R] : The Office of Governor is against the Federal structure.

(A) (A) is true, (R) is false

(B) Both (A) and (R) are true and (R) is the correct explanation of (A)

(C) (A) is false, (R) is true

(D) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(E) Answer not known

Famml (A) D @BHW Fal LT AU, 9LEBHT, HTH 6T Senevall LDMMID 0SS U
TR T TS BIS eretTenIld @) (H N GLNMeT Lol Q&S M.

&rgeord (R) @ SLEBHT eTedTm BTG Fol LT F1&HG 6TH JTeors!

(A) sapmi (A) &1fl, aueormey &myevord (R) seum

(B) sammi (A) nmmith srgevortd (R) &ifl, Goaiid sammi (A)s s mer &ifl ellemTgsInms

&mgevorid (R) 2_eTens

(C) npmi (A) seum. sryevorid (R) &ifl
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97.

98.

99.

100.

(D) sapmi (A) poid sryesrd (R) @reor®b &ifl, opermey gapmi (A) Fiflwimeor
elem&a0mes &myeorld (R) @6vemev
(E) efleo asflualevemev  (CCSE2E-2024)

Who had been given the "Shilp Awards" by the Ministry of Textiles and Industry?
(A) to legendary drama artists

(B) to rural women entrepreneurs

(C) to legendary farmers

(D) to legendary crafts person

(E) Answer not known

sa|6fl DMHMID QSTIHOLSHNM AMDEFFHSSHTeL FlevLl ail(HSIG6T WTIHEHGS
QUIPEBIGLILGR mSI?

(A) UMM BITLHE &HeM6VEHTHEHE S

(B) @ gymoliLm QLesor Q& mLdleL (D660 GauTTy

(©) yswPuMmM lleugmuilgeT

(D) UsLPALIMHM &6 M6 & 606V EH TS 6T

(E) efleoL asflwalevemevy  (CCSE2E-2024)

Some parts of the moon never see sunlight. Because the axis of the moon is to the direction

of the Sun's light.
(A) Perpendicular (B) Parallel
(C) Same (D) Opposite

(E) Answer not known

BlevelledT Flev LIGH 6T 6T IGLIMSID Gl eperflulement Ll LIS S5 GS Ul 606m6V. 60T 6T60TMIT6L
Blevalletr 9188 Gl eefluleT HensFs & @) HLILIGTE. S5

(A) QFRIEGH5TSH (B) @emevorwimas

(C) swoms (D) et® s

(E) e asflwelevemey  (CCSE2E-2024)

According to Valluvar, what is the weapon to destroy the arr of foes?

(A) Heroism (B) Force (C) Fort (D) Wealth
(E) Answer not known

‘LIen&alfl6r SMaUSmMS L GG WS 6Tt al6TEehelf GMOILILENGSmTT?
(A) efyib (B) uemL (C) syyevor (D) @F6veuld
(E) ellevL asflwelevemey (CCSE2E-2024)

“ that man desire it is plain whom others wealth Delights not, feeling envious
pain".

Whom does Thiruvalluvar refers to in the given above Thirukkural?

(A) Nor wealth nor virtue does that man
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(B) Man of envious heart

(C) Envy they have within
(D) Goodman

(E) Answer not known

« LN meor e &0

GLIGTOTTS! (D& MILT LIMeoT".

6TEOTMI WIMem T H(heueTeheu &MILILNQSmTF?
(A) SIm6iT 94,8810 G6U600TL TS T6oT

(B) sjeueilul QB EHE &5 medT

(C) o|(W&HEMTMI 2_60)L_UIT60T

(D) &sueilwimesr

(E) e asflwalevemey  (CCSE2E-2024)
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